H & 0l & AHS B Ml A

20233 & 204k LBHSIH AMEHGHE 1t

AENSHE Dt
: ot & AGHE H|

otd ¥ AGHE 2tel EER=E)

2 - IE!

SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
Hok& 1t 6,987,778 5,403,664 1,584,114
& L ASHE FH| 6,942,018 5,355,384 1,586,634
ot& Y AGHE 2tel 6,942,018 5,355,384 1,586,634

otd & AGHE ®/A2g 2,198,876 1,841,365 357,511

101 @I 4| 52,434 607,611 AN15,177
M IIRHZ2Z2XSE+ 592,434 607,611 AN15,177
O ZA2IoY S otd 2l JIZ2tHZ2 2Kt
o124t| 414,076
=Jl==3 9,620 *20H +BA| 2212 +8E 258,586
—Fgay
9,620 *20F *BA| 2H53=*8E 61,568
— X 9,620 *20H *8A| 2++8E 12,314
—oimRRAY
9,620 * 1. 581 x20H x4 A| 2H<50L 57,720
BE . otEEAAY
9,620 20 +8A| 2+x 15 23,088
— Bt 50,0002 x2H +8& 800
Oal=AIRIZ S ot 22| JIZEMZ2Z At
MEl= 76,470
=Jl==3 1, 7803 x20H+8A| 221U +8 47,847
—Fgay
1,780 x20F +8BA| 2hx5F=+8H 11,392
— Xt 1,780 «20H+8A| 2H+8E 2,279
—HE2Z25
1,780& * 1. 581 x20H +4 A| 2H+50L 10,680
—g83 - AdFsUSY
1,780 +20H +8A| 2+x 15 4,272
OABAIRIY S o5k 22| JI2HH2
2L BE= 41,693
—=2d3 490,546,000 *4. 5% 22,075
—HLEE 490,546 ,0002 *3.545% 17,390
LI QY
17,390,000 *12.81% 2,228
O ZABIoY S otd 2l JI2tHZ22 Xt
1=l 7,200
- 50,000& *20H *23 2,000
—Zest 50,0002 *20H 1,000
—or& e 10,000& 20 200
-9 10,000 x20H 200
—gsts 80,0003 20 1,600
—gtetst 70,0003 *20H 1,400
— &5t 20,0003 *20H 400
—QrE D) 10,000& x20 = 24 400
Odte e, HEA 243 S
100,000 x22H 2,200




A MEHSHE It
S ot Y AoHE JH|
el Bt U A5 22 (crel: g)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OAZADICIY SHEAr JIZHZ2 A 22| 39,021
-J1=3 9,62021x22 %A 2121262 25,859
—FEaY
9,620 x2H *BA| 2t x53=+8E 6,157
—x= 9,620 x2H+8A| 2++8H 1,232
—oimazsY
9,620 1 5UH*22I*4A| 2H+302! 3,464
—HT - GEEALY
9,620 x2H +BA| 2+ 15 2,309
OAZAI2I2Z GHAAL JI2HHI2 2 Xt M
= 7,222
—Jl=3 1,78021 %225 48AI 221 2L 182 4,785
—FHaY
1, 7802 x2H +8A| 2tx57=+8E 1,140
— X 1,7802x2H+8A| 2++8E 228
—oimpRsy
1,78021 1, 5HH+2Z x4 A 245302 641
—HE - I EHALY
1,780 x2Z +8A| 2kx 152 428
OAlZAIRIC|Z AL JIZ2HHIZ2Z2X EE8E 3,932
—=00132 46,243,0003 *4.5% 2,081
—H2AEH 46,243,000 *3.545% 1,640
— L OIE)| Qo
1,640,000 *12.81% 211
OHZAI2I21Z FHEAL JI2HHI2 2 Xt TS| 620
&5 50,0003 *2H *23| 200
— &35t 50,0003 x2H 100
-9 10,000 «2Y 20
—&Et=s 80,000 *2H 160
—25tst 70,0003 2% 140
201 Ler23| 1,532,342 1,137,554 394,788
01 AtR2elt] 53,632 29,615 24,017
OY9=2d =7 AIZ2Z
156,970& *708M" %2 5%*110% 3,057
Ost&zte] ADIS& 2l
3,000 x 15123 540
Oodta 2 AlRISe|2ZE MDA A ALH|
67,2102 * 11601 2~ 7,797
OHledld FAS+BEH MI|oHE 2] Y
HppZ 123,00 x 123 1,478
O=Rdtd =X HEE sE= ME 9,500
—=2= 50,0002 x2F 254 2 2,500
— QL= 700,000 * 1070 2~ 7,000
Odta, Al2Igj2t 2] S&H| Xz
600,000& * 102! 6,000




S MERGHED
I ol 2 A5Hd FH|
s ofd R Ao 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o4tz ?Rsl 2949
100, 0003 »7 & *43] 2,800
Ods7+A F1H S5
90,0002~ 122 1,080
Odig Z2d 57 & Tl 7
1,500,000& 1,500
Od=d S otd W HYIE XMl ===
142,000 x70E+23] 19,880
02 S3=gHl 1,478,710 1,107,939 370,771
OY=A219Z2 S =06td =X & Al
= =Al2ell 200, 0002 x565*202 20,000
Opotd2elE JIAEH |A2el| 10,211
—ZHIRX2el(7E)
100,0002!* 10CH+33) 3,000
—FEIR N (AE)
100,000 *11CH*12] 1,100
—3E= 256,000 *21CH 5,376
—2¢ 35,0002 +21CH 735
OotdUl AldE S83R= € MA 168,862
—&l= 9,335,300 123 112,025
—Stl= 4,248,370~ 128 50,981
—=E2 488,000 <123 5,8%
OAlgleld S 4ia THOIB=+= AIZBE 1,161,175
-2 224,470 x40 A 123 10,775
—AIE= 50%+23,008,000m" 1,150,400
O otd&IIANE=Z R 2l
400,000 «8 A+ 12 38,400
OAlgleldr MIIAE=E |2l
300,000 x280H A *43] 33,600
OXlgts 2 It AFAAE Stes
40,0002 123 480
OXtE = Al 10,800
—1E a=xt 400,000 «2CH 12 9,600
—SSHIIR 100,000 1CH* 12 1,200
Ootd & Al2l2lZ CCTV ZHIS Al
1,680,0002 122 20,160
OMtr YEEHl |2t
50,0003 x22CH = 12 13,200
Ootd & aotd 85 S ¢dURE=
2,530 602 122 1,822
206 M=l 74,100 69,200 4,900
01 M=4l 74,100 69,200 4,900
Odta & Al FR2elE - 44,500
—=XZel A+
15,0002 x105+1008 15,000




FA et
I ol 2 A5Hd FH|
Chel: SlE Y ABIE 22l (SHol: )
SA - B BRA(SH) - HRA - of v e HIDE2
—SAg +2, x812 1g
1,5002 95 +1,000= 13,500
—BIEE HUD 22FAN O 7Y
4,000& *4J1+800=F 12,800
—dolE M SH 2L
16,0002 «200& 3,200
Ootd & A2l HIIAEE A+
800,000 *379H 2 29,600
ot&dEHl & =Al2cl 2,386,122 1,201,401 1,184,721
203 HR=AY] 2,680 2,680
03 A= PR S| 2,680 2,680
Odtd &l & =Al2e| BRFA
2,680,000& 2,680
401 AIEHIZL SO 2,383,442 1,198,721 1,184,721
01 Al&HI 2,367,883 1,190,690 1,177,193
Oodtd&Hl & =Xl2c 740,000,000 740,000
OCi2d dH=SAME AIRZ2LHE S9
25,000,000& 25,000
OdsSAIZYZ FAIZC A
338,000,000 338,000
OHlzUd & =832 FA2CIAY
107,000,000 107,000
Og=d S =HS2 FA22AY
93,893,000& 93,893
OWEd & =832t FA2 A
90,750,000 90,750
O & S HEAE
900,000,000 900,000
Ootd & Al2l2lY HIIAEE FAl2cl
60,0008 x554= 33,240
O = -2-% [Oct 2= ofd2 x4
40,000,000 40,000
03 Al 20HHI 16,559 8,031 7,528
OpotddHl & =A2el
740,000, 0002 +0.63% 4,662
OasAZ FRI2ACIAL
338,000,000&%0.72% 2,434
OHZUHAE & +=HI2t FAI2CIAL
107,000,000 0.72% 77
Og=d & =83 FA2A2IAMY
93,893,000 0. %% 846
OWEd S =S FA2CAY
90,750,0002 +0. 9% 817
OAZ & &KX MHEAE
900,000,000 0.63% 5,670
Odtd € Alglej2r HIIAIEE =Xl2c
33,240,000 *1.08% 359
a5 Ao |28 AgAY 1,957,020 0 1,957,020




FA et
MR G L AGHA FH|
s ofd R Ao 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 1,957,020 0 1,957,020
01 Al&H| 1,950,000 0 1,950,000
Ods MBI 2288 ™A
1,950,000,000& 1,950,000
03 AIE R 0HHI 7,020 0 7,020
O&s AlRIo2 2|2dE Z8AMY
1,950,000, 000& *0.36% 7,020
o = HE Z411(4S H00) 200,000 0 200,000
401 AIEHIL2H] 200,000 200,000
01 A&t 200,000 200,000
OZA = 2lEl Z411(4S HO0IA)
200,000,000 200,000
s S0 20 & ZaesAel S Jul(as & 200,000 0 200,000
0101l &F)
401 Al HIZ S OHbI 200,000 200,000
01 A28l 200,000 200,000
Ods =20t 2l  B4dl5sacl S &
HI(&S 00l 200,000,000 200,000
ot 2 AGHA FH| 10,000 10,000 0
=37 Matz2te 10,000 10,000 0
=ZR Mt 10,000 10,000 0
201 eer23| 10,000 10,000 0
01 AtR2t2|HI 10,000 10,000 0
O= - s=Mi 288t & S8
1,000,000& 105 10,000
A2 ZHI(MESHE D) 35,760 38,280 N2,520
=34 35,760 38,280 A2,520
Jl=23H] 35,760 38,280 A2,520
201 et23| 14,040 15,120 21,080
01 AtR2telHl 14,040 15,120 1,080
ORANEgII123H 14,040
— eS| 40,0002 x13E 128 6,240
—= 2| 50,0002 x13E~12& 7,800
202 04l 18,720 20,160 1,440
01 2LHoIH 18,720 20,160 1,440
Oge=dII20H|
120,000 x 13+ 123 18,720
203 HF=AH] 3,000 3,000
MU A2 LIFLI 3,000 3,000
ORAMEZE =4 250,000 * 128 3,000




